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B x H A Twa:  |ToEboma | scaoma | O e | R
TERRERERA 0 | 460,223,585 0 | 460,223,585 0 | 460,223,585
EEREEERA 0 0| 171,258,175 | 171,258,175 0| 171,258,175
EAEFRBEIEIRA 0 0 0 0 0 0
u}é BERETMSRA 0 0 581, 628 581, 628 0 581, 628
ZEF RELEUA 0 1,129 1,142 2,27 0 2,27
= ZOHEDIA 0 1,449,911 1,268, 960 2,718,871 0 2,718, 871
§ BEIFFUAG () 461,674,625 | 173,109,905 | 634, 784,530 0 | 634,784,530
? AEEXH 5,554,582 | 292,806, 894 85,043,094 | 383,404,570 0 | 383, 404,570
E EEEXM 0 12,444,385 45,068,449 | 117,512,834 0| 117,512,834
% EBEXM 1,979, 060 54,867, 439 34, 311, 781 91, 158, 280 0 91, 158, 280
i FIRERIBERE 0 3, 557, 586 0 3, 557, 586 0 3,557, 586
FILFIRXH 0 1,741, 426 0 1,741, 426 0 1,741, 426
ZOHDZH 0 1,332, 301 1,131, 064 2,463, 365 0 2,463, 365
E = ST b3 0] 1,533,642 | 426,750,031 | 165,554,388 | 599, 838, 061 0 [ 599,838,061
BEETHESIWIEEQ)=(D-Q2) A 7,533,642 34,924,594 7,555,517 34,946, 469 0 34, 946, 469
TERBREMBERA 0 8,283, 000 0 8,283, 000 0 8,283, 000
Ll)f ZODERBREFCLDRA 0 0 37,000 37,000 0 37,000
% TERBRFRAG @) 0 8,283, 000 37,000 8, 320, 000 0 8,320, 000
%E; BREEEEAETEEEI 0 14, 628, 000 0 14, 628, 000 0 14, 628, 000
[%: EE & EREXH 0 11, 260, 700 140, 800 11, 401, 500 0 11, 401, 500
g i TrAF VR —REBORFEZH 0 8,925,048 1,473,432 10, 398, 480 0 10, 398, 480
Llé ZOMDERBREFICL DI 0 0 0 0 0 0
TERBREXHE (6) 0 34,813,748 1,614,232 36, 427, 980 0 36, 427, 980
TERBHEE RN EEE (6)=4)- ) 0| A 26,530,748 | A 1,577,232 | A 28,107,980 0| A 28,107,980
W EEREARA 0 2,212,000 1,012, 068 3,224, 068 3,224,068
0%) LI)% MR SEEARRA 7,533, 642 0 0 7,533,642 | A 7,533, 642 0
% Z DD FBIRAE (7) 7,533, 642 2,212,000 1,012,068 10,757,710 | A 7,533, 642 3,224,068
% M EEXH 0 2,212,232 1,000, 066 3,212,298 0 3,212,298
2 fé MRXASHBAEIH 0 3,517,142 4,016, 500 7,533,642 | A 7,533, 642 0
HB,ZR ZOHDFEBIHET (8) 0 5,729,374 5,016, 566 10,745,940 | A 7,533, 642 3,212,298
Z OO FEBERINZELE (9)=(1)-(8) 7,533,642 | A 3,517,374 | A 4,004, 498 11,770 0 11,770
FiREXH (10) 0 0 0 0 0
LYFRIWNKZLEEE (11)=(3)+(6)+(9)-(10) 4,876,472 1,973, 787 6, 850, 259 0 6, 850, 259
AR ERES (12) 0 [ 128,645,180 43,457,952 | 172,103,132 0| 172,103,132
LHRZILESES (13)=(11)+(12) 0 [ 133,521,652 45,431,739 | 178,953, 391 0| 178,953,391




